VCC =12

IC .= 3.5
3 := 160

RS = 0.3
VS =10
f =200
RL =

VCEq = =

VCEq = 6
3
VRC := VCEgQ-

VRE := VCEq-%
VRC = 4.5
VRE = 1.5

VRC
IC

RC = 1.286

_I€

3

RC =

IB :



IB = 0.022

IE .= IC + IB

IE = 3.522
~ VRE
~ IE

RE = 0.426

VR2 := 0.7+ VRE

VR2 = 2.2
IR2 := 10-1B
IR2 = 0.219
_ VR2

- IR2
R2 = 10.057

VRI = VCC - VR2

VRI = 9.8
Rl =
IR2

R1 =443



2]

re' = 7.098 x 10 °

RINBASE := 3-re’

SYSERNEN -

RS + RIN
Vb = 7.696
XC = RE
10
XC — 0,043
C2 = :
2 f-XC
C2 — 0.019

Ao A Ao glaall Gl



RCOUT = NCRL

R(C + RL
RCOUT = 1.023
AV RCOIUT
re
AV = 144.077
AVt = (WJ-A‘V
VS
AVt = 110.885
ICac := B( Vb )
RINBASE
ICac = 1.084 x 1‘{)3
S VS
" RS+ RIN
IS = 7.679
AT — ICac
IS
Al = 141.188

Ap == AVt-Al



An — 1 SAA « 10

¢ = Ri 1000
21T '
10
6
&3 = 1.592 x 10
1
el = RIN- 1000
21T '
10
—6
el = 7.94 % 10

AP' = (ICac)>-RC
6
AP'=1.511x 10

AP" := VS-IS-Ap

AP" = 1.202 x 106



